
Service Parts Catalog Contents

PageSet 6

Chassis

100 Fuel

CAT

105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL
_____________________________________________________________________________ 1

CHART, FUEL SENDERS

_____________________________________________________________________________ 2

_____________________________________________________________________________ 3

CNG

With: FEATURE 40245-01
_____________________________________________________________________________ 4

TANK INSTALLATION AND TIE DOWN

With: FEATURE 40245-01
_____________________________________________________________________________ 5

CUMMINS

ISC

105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL
_____________________________________________________________________________ 6

ISC03, 05

105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL
_____________________________________________________________________________ 7

EMCO WHEATON

FILL KIT

_____________________________________________________________________________ 8



Models: C4RE
CAT
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002219

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CAT
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002219

1 0070802 2 TANK ASSY,FUEL,105 GAL,TRANSVERSE RH FILL WITH FEATURE 40241-14

1 0070803 2 TANK ASSY,FUEL,105 GAL,TRNV,RH, WITH FEATURE 40241-15

2 0035700 TUBING ASSY,FRONT,DIESEL TANK, C4RE

3 0035701 TUBING ASSY,REAR,DIESEL TANK, C4RE

4 0038959 4 STRAP ASSY,FUEL TANK 105 GAL, C4RE

5 0035458 4 CROSSMEMBER,FUEL TANK

6 0038963 CROSSMEMBER,SUPT,FILL NECK,DSL,TRAV TK 

7 0038961 SUPPORT,FILL NECK,DIESEL,TRAV TK 

8 0090167 NECK,ASSY,FUEL,FIL,TRAV DSL W/EX VENT, WITH FEATURE 40241-14

0038960 FILL KIT,EMCO WHEATON,C4RE WITH FEATURE 40241-15

9 0038965 HOSE,FUEL FILL,TRAV TANK,105 GAL,C4RE

10 2007649 24 PAD,FUEL TANK STRAP

11 1886357 1F HOSE,.75 ID X 1.03 OD,W-H H10112 WITH FEATURE 40241-14

12 1804384 2 CAPSCREW,HEX HD,3/8-16X2 1/4,GR 8,YEL 

13 1078922 16 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

14 0826297 12 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

15 2024727 16 CAPSCREW,HEX HD,7/16-14X1 1/2,GR5,

16 2028546 32 WASHER,FLAT,7/16,X 1 1/32 X 5/64,YL ZN

17 1134105 16 NUT,HEX HD,7/16-20,TOP LOCKING,CADMIUM

18 0882803 3 CAPSCREW,HEX HD,3/8-16,X,1,,GR5,YELDICH

19 0839027 3 NUT,HEX HD,3/8-16,GR G,SM FLG LK,YEL 

20 2000057 4 CAPSCREW,HEX HD,1/4-20 X 1,GR 5,YEL ZN WITH FEATURE 40241-14

21 2001121 4 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH WITH FEATURE 40241-14

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CAT
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002219

25 0021432 CAP,FUEL TANK FILLER,BORGWARNER WITH FEATURE 40241-14

26 1905488 2 CLAMP,CONSTANT TORQUE,2 1/4 TO 3 1/8 DIA

27 1025857 2 CLAMP,HOSE,SIZE 8,LINED WITH FEATURE 40241-14

28 1363274 2 CLAMP,HOSE,SILICON,.62.00

29 1109271 24I LOOM,CORRUGATED,BLACK,NYLON,3/4 ID,SS

30 1797802 24I HOSE,.25 ID X .50 OD,W-H H00904

31 1237072 VENT,FUEL TANK

32 1435502 CLAMP,HOSE,LINED,.50 INCH

33 0021443 INSERT,.75 HOSE X .50 PIPE WITH FEATURE 40241-14

34 1831890 ELBOW,STREET,45DEG,3350X8,1/2MPTX1/2FPT WITH FEATURE 40241-14

35 0040675 BRACKET,STANDOFF FILTER ASSY, C4RE

36 1951680 FILTER,FUEL/WATER SEPAR,RACOR 490R-BB-02

1967009 ELEMENT,FUEL/WATER SEPARATOR,R90P,30M 

37 0040676 SHIELD,FUEL FILTER ASSY, C4RE

38 1542455 9 CAPSCREW,HEX FLG,5/16-18X4.00,GRD5,

39 0829390 9 NUT,HEX HD,5/16-18,SER WASHER,YEL ZN 

40 0040677 BRACKET,FUEL & HYD LINE, C4RE

41 2050839 4 CAPSCREW,HEX HD,3/8-16X1 1/2,GR5,YEL 

42 0826297 4 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

43 1107085 8 WASHER,FLAT,13/32 X 13/16 X 3/32,HDN,BLK

44 1797810 AR HOSE,.37 ID X .62 OD,W-H H00906

45 1363274 CLAMP,HOSE,SILICON,.62.00

NI 0040685 KIT,FUEL COMPONENTS,CAT,150WB, C4RE

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CAT
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002219

NI 0040686 KIT,FUEL COMPONENTS,CAT,217WB, C4RE

NI 0040687 KIT,FUEL COMPONENTS,CAT,273WB, C4RE

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002215

TANK ASSEMBLY, FUEL

1935501 TANK ASSY,FUEL,60 GAL,MM,RH FILL,A3RE

1601947 TANK ASSY,FUEL,100 GAL,MIDMOUNT,RIGHT 

1935493 TANK ASSY,FUEL,100 GAL,MM,RH FILL,A3RE

1997576 TANK ASSY,FUEL,100 GALLON,MIDMOUNT,RH 

1866375 TANK ASSY,FUEL,100 GAL,MM,RH FILL, CEC/RE

0021432 CAP,FUEL TANK FILLER,BORGWARNER

0011895 TANK ASSY,FUEL,60 GAL,MM,LEFT FILL, A3RE

0011897 TANK ASSY,FUEL,100 GAL,MM,LEFT FILL, A3RE

4311155 SENDING UNIT,100 GAL FUEL TANK A1380AE"

TANK ASSEMBLY, FUEL

1667682 TANK ASSY,FUEL,45 GALLON,SIDEMOUNT,

4328746 CAP,FUEL TANK,GASOLINE/DIESEL"

1531417 TANK ASSY,FUEL,60 GAL,SIDEMOUNT,RIGHT 

1667690 TANK ASSY,FUEL,60 GALLON,SIDEMOUNT,R/F 

4328746 CAP,FUEL TANK,GASOLINE/DIESEL"

1784933 TANK ASSY,FUEL,60 GAL,M/M,RH FILL,

4323622 GASKET,SENDER,60 GAL FUEL TANK"

1667716 TANK ASSY,FUEL,60 GALLON,MIDMOUNT,RIGHT

0049389 TANK ASSY,FUEL,60 GALLON,MM,RH FILLBBCV,

4323622 GASKET,SENDER,60 GAL FUEL TANK"

4312609 FLANGE,PLUG,FUSE #873,FUEL TANK

0044488 PLUG,FUSE #873,FUEL TANK,1667716

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002215

1667732 TANK ASSY,FUEL,90 GALLON,MIDMOUNT,RIGHT

1997642 TANK ASSY,FUEL,90 GALLON,MIDMOUNT,RH 

0067240 TANK ASSY,FUEL,100 GAL,MM,RH FILL

1997501 TANK ASSY,FUEL,100 GALLON,MIDMOUNT,RH 

0049387 TANK ASSY,FUEL,100 GALLON,MM,RH 

4323622 GASKET,SENDER,60 GAL FUEL TANK"

4312609 FLANGE,PLUG,FUSE #873,FUEL TANK

0044488 PLUG,FUSE #873,FUEL TANK,1667716

1667708 TANK ASSY,FUEL,60 GALLON,SIDEMOUNT,LEFT

1667724 TANK ASSY,FUEL,60 GALLON,MIDMOUNT,LEFT 

0049390 TANK ASSY,FUEL,60 GALLON,MM,LH FILL, A3FE

0011896 TANK ASSY,FUEL,100 GAL,MM,LEFT FILL, FE

0049388 TANK ASSY,FUEL,100 GALLON,MM,LH FILL, 

4315248 SENDING UNIT,45,60, OR 90 GAL FUEL TANK"

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002216

TANK ASSEMBLY, FUEL

1574805 TANK ASSY,FUEL 60 GALLON GAS, 49 STATE,

1637859 TANK ASSY,FUEL 40 GAL GAS,49 STATE,ALUM

4327052 SENDER W/PUMP,40 GAL,GAS,427

1574987 FITTING,SWAGELOK TO AN UNION 3/8,TUBE,TC

1574979 FITTING,SWAGELOK TO AN UNION,5/16 TUBE,

1943232 TANK ASSY,FUEL,176 GAL,TRNSV MT,DUAL FILL

8312639 SENDING UNIT,176 GAL. TANK LTC"

1533348 TANK ASSY,FUEL,60 GAL,SIDEMOUNT,LEFT FILL

2008001 SENDING UNIT,60 GAL FUEL TANK (90 OHM) 90 OHM

0036591 TANK ASSY,FUEL,105 GALLON,TRNV,RH FILL

0056335 TANK ASSY,FUEL,105 GAL,TRANSVERSE RT 

0056967 2 SENDING UNIT, 45 GAL. TANK (9021058)

0056836 TANK ASSY,FUEL,100 GALLON W/SENDER,

0086581 SENDER,FUEL TANK,100 GALLON,COMMERCIAL

9021058 TO,TANK ASSY,FUEL,45GAL,SIDEMT,EMCO 

0056967 SENDING UNIT, 45 GAL. TANK (9021058)

0070805 TANK ASSY,FUEL,100 GAL,MIDMOUNT,LH FILL

0094754 SENDER,FUEL TANK,105 GAL,TRANSVERSE,RH 

0068149 TANK ASSY,FUEL,100GAL,MM,LS FILL

0068150 TANK ASSY,FUEL,60GAL,MM,LS FILL

0068151 TANK ASSY,FUEL,100GAL,MM,RIGHT FILL

0068152 TANK ASSY,FUEL,60GAL,MM,RIGHT FILL

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, BBCV, B4RE, C1FE, C3FE, C4RE, CSFE, CSRE, H4RE, L4RE, Q4RE,
QBRE, T2RE, TCFE, TCRE, TSFE, WLWB, W4RE
CHART, FUEL SENDERS

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002216

0087876 TANK ASSY,FUEL,96,MM,RIGHT FILL,10%, HDRE

0093338 SENDER,FUEL TANK,FOR 21.5 IN DEEP TANK

0068146 TANK ASSY,FUEL,60GAL,SIDEMNT,RF

0068147 TANK ASSY,FUEL,100GAL,MM,LEFT FILL

0068148 TANK ASSY,FUEL,60GAL,MM,LEFT FILL

0067239 TANK ASSY,FUEL,60 GAL,MM,RH FILL

0081017 SENDER,FUEL TANK,FOR 14 IN DEEP TANK"

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CNG

With: FEATURE 40245-01

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002221

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CNG

With: FEATURE 40245-01

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002221

1 0043978 KIT,ASSY,CNG FUEL,13300,217,XCEL

NI 0069860 ELEMENT,FILTER,CNG FUEL,FAB IND,C4"

NI 0070413 HANDLE,CNG,ON/OFF VALVE FOR KIT 0043978

NI 0076187 TUBE,SS,1/2"" X .065 WALL

NI 0076176 CLAMP,LOOP,HI TEMP,1/2

NI 0076186 TUBE,SS,1/2"" X 1/4"" NPT MALE CONNECTOR

NI 0076183 VALVE,SOLENOID,SKINNER,1/4 PORTS

2 0997080 6 NUT,HEX HD,7/16-14,LOCKING,GR 8,CADMIUM

3 1107895 48 CAPSCREW,HEX HD,5/8-11 X 2,GR8,YEL ZN 

4 1003037 96 WASHER,FLAT,21/32 X 1 3/16 X 13/64,BLK ZN

5 0939827 48 NUT,HEX HD,5/8-11,GR 8,LOCK,CADMIUM WAX

6 1839331 3 CAPSCREW,HEX HD,1/2-13 X 2.00,GR5 YEL 

7 0870907 6 WASHER,FLAT,11/16 X 1 3/16 X 1/8,BLK ZN

8 0850800 3 NUT,HEX HD,1/2-13,LOCKING,GR 8,CAD WAX

9 2024727 6 CAPSCREW,HEX HD,7/16-14X1 1/2,GR5,

10 1082205 12 WASHER,FLAT,15/32 X 3/4 X 1/16,YEL ZN DICH

NI 0004188 AR SEALANT,ANAEROBIC PIPE THD SEAL,MS-PTS

NI 1584762 AR SNOOP LIQUID LEAK DETECTOR,1 GALLON 

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CNG
TANK INSTALLATION AND TIE DOWN

With: FEATURE 40245-01

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002222

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CNG
TANK INSTALLATION AND TIE DOWN

With: FEATURE 40245-01

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002222

1 1947258 AR BUSHING,UPPER,BODY MOUNTING,AFFDGM

2 1947266 AR BUSHING,LOWER,BODY MOUNTING,AFFD/GM

3 1948694 AR RETAINER,UPPER,BODY MOUNTING,AFFDGM

4 1948702 AR RETAINER,LOWER,BODY MTG,M12-1.75 NUT 

5 0042315 AR BOLT ASSY,MTG,BODY, AFFD/GM

6 1010024 AR NUT,HEX HD,1/2-13,GR 8,LG FL,L/N,YEL ZN 

7 1896521 AR WASHER,FLAT,.531 X 2.00 X 11 GA,YEL ZN 

8 1134097 AR WASHER,FLAT,15/32 X 1 1/8 X 5/64,HDN,BLK 

9 1134105 AR NUT,HEX HD,7/16-20,TOP LOCKING,CADMIUM

10 0522342 AR CAPSCREW,HEX HD,7/16-20X1 1/2,GR5,

11 0050494 ANGLE,UPPER,CNG TIEDOWN,FAB SYST.R/H, 

12 0055347 ANGLE,UPPER,CNG TIEDOWN,FAB SYSTEM L/H

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002217

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002217

1 0070802 2 TANK ASSY,FUEL,105 GAL,TRANSVERSE RH FILL WITH FEATURE 40241-14

1 0070803 2 TANK ASSY,FUEL,105 GAL,TRNV,RH, WITH FEATURE 40241-15

2 0035700 TUBING ASSY,FRONT,DIESEL TANK, C4RE

3 0035701 TUBING ASSY,REAR,DIESEL TANK, C4RE

4 0038959 4 STRAP ASSY,FUEL TANK 105 GAL, C4RE

5 0035458 4 CROSSMEMBER,FUEL TANK

6 0038963 CROSSMEMBER,SUPT,FILL NECK,DSL,TRAV TK 

7 0038961 SUPPORT,FILL NECK,DIESEL,TRAV TK 

8 0090167 NECK,ASSY,FUEL,FIL,TRAV DSL W/EX VENT, WITH FEATURE 40241-14

0038960 FILL KIT,EMCO WHEATON,C4RE WITH FEATURE 40241-15

9 0038965 HOSE,FUEL FILL,TRAV TANK,105 GAL,C4RE

10 2007649 24 PAD,FUEL TANK STRAP

11 1886357 1F HOSE,.75 ID X 1.03 OD,W-H H10112 WITH FEATURE 40241-14

12 1804384 2 CAPSCREW,HEX HD,3/8-16X2 1/4,GR 8,YEL 

13 1078922 16 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

14 0826297 12 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

15 2024727 16 CAPSCREW,HEX HD,7/16-14X1 1/2,GR5,

16 2028546 32 WASHER,FLAT,7/16,X 1 1/32 X 5/64,YL ZN

17 1134105 16 NUT,HEX HD,7/16-20,TOP LOCKING,CADMIUM

18 0882803 3 CAPSCREW,HEX HD,3/8-16,X,1,,GR5,YELDICH

19 0839027 3 NUT,HEX HD,3/8-16,GR G,SM FLG LK,YEL 

20 2000057 4 CAPSCREW,HEX HD,1/4-20 X 1,GR 5,YEL ZN WITH FEATURE 40241-14)

21 2001121 4 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH WITH FEATURE 40241-14

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002217

25 0021432 CAP,FUEL TANK FILLER,BORGWARNER WITH FEATURE 40241-14

26 1905488 2 CLAMP,CONSTANT TORQUE,2 1/4 TO 3 1/8 DIA

27 1025857 2 CLAMP,HOSE,SIZE 8,LINED WITH FEATURE 40241-14

28 0040674 2 COVER,FUEL TANK SUPPORT, C4RE

29 1109271 24I LOOM,CORRUGATED,BLACK,NYLON,3/4 ID,SS

30 1797802 24I HOSE,.25 ID X .50 OD,W-H H00904

31 1237072 VENT,FUEL TANK

32 1435502 CLAMP,HOSE,LINED,.50 INCH

33 0021443 INSERT,.75 HOSE X .50 PIPE WITH FEATURE 40241-14

34 1831890 ELBOW,STREET,45DEG,3350X8,1/2MPTX1/2FPT WITH FEATURE 40241-14

35 0040675 BRACKET,STANDOFF FILTER ASSY, C4RE

36 1951680 FILTER,FUEL/WATER SEPAR,RACOR 490R-BB-02

1967009 ELEMENT,FUEL/WATER SEPARATOR,R90P,30M 

37 0040676 SHIELD,FUEL FILTER ASSY, C4RE

38 1542455 9 CAPSCREW,HEX FLG,5/16-18X4.00,GRD5,

39 0829390 9 NUT,HEX HD,5/16-18,SER WASHER,YEL ZN 

40 0040677 BRACKET,FUEL & HYD LINE, C4RE

41 2050839 4 CAPSCREW,HEX HD,3/8-16X1 1/2,GR5,YEL 

42 0826297 4 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

43 1107085 8 WASHER,FLAT,13/32 X 13/16 X 3/32,HDN,BLK

44 1797810 AR HOSE,.37 ID X .62 OD,W-H H00906

45 1363274 CLAMP,HOSE,SILICON,.62.00

46 1143676 12 SCREW,10-16 X 3/4, AB,PH1,PAN HD,BLK ZN,

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002217

0040681 KIT,FUEL COMPONENTS,ISC,150WB, C4RE  NOT SOLD SEPARATELY 
INCLUDES THE FOLLOWING

K1 SUPPLY LINE, TANK TO FILTER, 218 INCHES

K2 SUPPLY LINE, FILTER TO ENGINE 18.5 INCHES

K3 RETURN LINE, ENGINE TO TANK 189 INCHES

K4 FILTER INLET FROM TANK

K5 FILTER OUTLET TO ENGINE

K6 FILTER OUTLET TO ENGINE

K7 2 TANK PORTS

K8 9 TWIN SERIES CLAMP FOR 3/4 INCHES GREEN

K9 8 TWIN SERIES CLAMP FOR 5/8 BLACK

K1 9 TWIN SERIES COVER PLATE FOR 3/4 INCH

K1 TWIN SERIES WELD PLATE FOR 5/8

K1 RETURN PORT, ENGINE

K1 SUPPLY PORT, ENGINE

0040683 KIT,FUEL COMPONENTS,ISC,217WB, C4RE  NOT SOLD SEPARATELY 
INCLUDES THE FOLLOWING

K1 SUPPLY LINE, TANK TO FILTER, 285 INCHES

K2 SUPPLY LINE, FILTER TO ENGINE 18.5 INCHES

K3 RETURN LINE, ENGINE TO TANK 256 INCHES

K4 FILTER INLET FROM TANK

K5 FILTER OUTLET TO ENGINE

K6 FILTER OUTLET TO ENGINE

K7 2 TANK PORTS

K8 13 TWIN SERIES CLAMP FOR 3/4 INCHES GREEN

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002217

K9 12 TWIN SERIES CLAMP FOR 5/8 BLACK

K1 13 TWIN SERIES COVER PLATE FOR 3/4 INCH

K1 TWIN SERIES WELD PLATE FOR 5/8

K1 RETURN PORT, ENGINE

K1 SUPPLY PORT, ENGINE

0040684 KIT,FUEL COMPONENTS,ISC,273WB, C4RE  NOT SOLD SEPARATELY 
INCLUDES THE FOLLOWING

K1 SUPPLY LINE, TANK TO FILTER, 341 INCHES

K2 SUPPLY LINE, FILTER TO ENGINE 18.5 INCHES

K3 RETURN LINE, ENGINE TO TANK 312 INCHES

K4 FILTER INLET FROM TANK

K5 FILTER OUTLET TO ENGINE

K6 FILTER OUTLET TO ENGINE

K7 2 TANK PORTS

K8 13 TWIN SERIES CLAMP FOR 3/4 INCHES  (GREEN)

K9 12 TWIN SERIES CLAMP FOR 5/8  (BLACK)

K1 13 TWIN SERIES COVER PLATE FOR 3/4 INCH

K1 TWIN SERIES WELD PLATE FOR 5/8

K1 RETURN PORT, ENGINE

K1 SUPPLY PORT, ENGINE

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC03, 05
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002218

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC03, 05
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002218

1 0070802 2 TANK ASSY,FUEL,105 GAL,TRANSVERSE RH FILL WITH FEATURE 40241-14

1 0070803 2 TANK ASSY,FUEL,105 GAL,TRNV,RH, WITH FEATURE 40241-15

2 0035700 TUBING ASSY,FRONT,DIESEL TANK, C4RE

3 0035701 TUBING ASSY,REAR,DIESEL TANK, C4RE

4 0038959 4 STRAP ASSY,FUEL TANK 105 GAL, C4RE

5 0035458 4 CROSSMEMBER,FUEL TANK

6 0038963 CROSSMEMBER,SUPT,FILL NECK,DSL,TRAV TK 

7 0038961 SUPPORT,FILL NECK,DIESEL,TRAV TK 

8 0090167 NECK,ASSY,FUEL,FIL,TRAV DSL W/EX VENT, WITH FEATURE 40241-14

0038960 FILL KIT,EMCO WHEATON,C4RE WITH FEATURE 40241-15

9 0038965 HOSE,FUEL FILL,TRAV TANK,105 GAL,C4RE

10 2007649 24 PAD,FUEL TANK STRAP

11 1886357 1F HOSE,.75 ID X 1.03 OD,W-H H10112 WITH FEATURE 40241-14

12 1804384 2 CAPSCREW,HEX HD,3/8-16X2 1/4,GR 8,YEL 

13 1078922 16 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

14 0826297 12 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

15 2024727 16 CAPSCREW,HEX HD,7/16-14X1 1/2,GR5,

16 2028546 32 WASHER,FLAT,7/16,X 1 1/32 X 5/64,YL ZN

17 1134105 16 NUT,HEX HD,7/16-20,TOP LOCKING,CADMIUM

18 0882803 3 CAPSCREW,HEX HD,3/8-16,X,1,,GR5,YELDICH

19 0839027 3 NUT,HEX HD,3/8-16,GR G,SM FLG LK,YEL 

20 2000057 4 CAPSCREW,HEX HD,1/4-20 X 1,GR 5,YEL ZN WITH FEATURE 40241-14

21 2001121 4 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH WITH FEATURE 40241-14

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC03, 05
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002218

25 0021432 CAP,FUEL TANK FILLER,BORGWARNER WITH FEATURE 40241-14

26 1905488 2 CLAMP,CONSTANT TORQUE,2 1/4 TO 3 1/8 DIA

27 1025857 2 CLAMP,HOSE,SIZE 8,LINED WITH FEATURE 40241-14

28 0905745 2 SEALANT,PIPE,LOCTITE 567,W/TEFLON 250CC

29 1109271 24I LOOM,CORRUGATED,BLACK,NYLON,3/4 ID,SS

30 1797802 24I HOSE,.25 ID X .50 OD,W-H H00904

31 1237072 VENT,FUEL TANK

32 1435502 CLAMP,HOSE,LINED,.50 INCH

33 0021443 INSERT,.75 HOSE X .50 PIPE WITH FEATURE 40241-14

34 1831890 ELBOW,STREET,45DEG,3350X8,1/2MPTX1/2FPT WITH FEATURE 40241-14

35 0070613 BRACKET,FILTER,STANDOFF

36 0095069 FILTER,FUEL,CUMM ISC

37 0040676 SHIELD,FUEL FILTER ASSY, C4RE

38 1542455 9 CAPSCREW,HEX FLG,5/16-18X4.00,GRD5,

39 0829390 9 NUT,HEX HD,5/16-18,SER WASHER,YEL ZN 

40 0040677 BRACKET,FUEL & HYD LINE, C4RE

41 2050839 4 CAPSCREW,HEX HD,3/8-16X1 1/2,GR5,YEL 

42 0826297 4 NUT,HEX HD,3/8-16 LOCK,YEL ZN DICH

43 1107085 8 WASHER,FLAT,13/32 X 13/16 X 3/32,HDN,BLK

44 1797810 AR HOSE,.37 ID X .62 OD,W-H H00906

45 1363274 CLAMP,HOSE,SILICON,.62.00

46 1708106 12 ADAPTER,849-FSO-10 X 12 37 DEG,STEEL 

47 1142785 ADAPTER,1040-10-125,37DEG,STEEL FLARE

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
CUMMINS
ISC03, 05
105 GALLON TRANSVERSE MOUNTED RH FILL

With: FEATURE 40241-14, 40241-15, EMCO WHEATON FILL

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002218

48 1965045 ELBOW,45 DEG,WEATHERHEAD,C5365X12X10

NI 0070522 KIT,FUEL COMPONENTS,ISC05,150 WB, C4RE

NI 0070524 KIT,FUEL COMPONENTS,ISC05,217 WB, C4RE

NI 0070525 KIT,FUEL COMPONENTS,ISC05,273 WB, C4RE

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EMCO WHEATON
FILL KIT

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002220

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EMCO WHEATON
FILL KIT

Service Parts Catalog

Key PartNumber Qty Description Comment

100 Fuel
Page Set PS0002220

0038960 FILL KIT,EMCO WHEATON,C4RE CONSISTS OF THE FOLLOWING

1 ADAPTER ASSEMBLY

2 0048103 CAP ASSY, DUST, EMCO

0025935 POPPET ASSY KIT,EMCO WHEATON,POSI/LOCK-

3 0048104 SEAL, DUST CAP, EMCO

4 0048105 2 GASKET, ADAPTER, EMCO

5 2 1/2INCH HOSE SHANK

6 4 1/4-20 SCREWS

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number




